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For items (1-28),choose the correct answer from A,B,CorD to complete each of the
following sentences:

1) Iam completely aboutmy exam results I never thoughtI'd do so well!

A) inspirational B)slimy C) ecstatic D) hypocritical

2)We couldn't use our mobile phones in the desert, but started to.. signals when
we went into the mountains.

A)show off B)pick up C) point out D)calm down

3) It is claimed that

vehicles.

A) wind turbines

from cars kill twice as many people as accidentscaused by

B)fossil fuels C)endangered species D)exhaust fumes

4) Tigers-the largest living cats on Earth-are atthe top of their food chain so they have no

predators.

A) torrential B)scorching C) bewildered D) natural

5)Rami ..;whenever arguments happen,he resolvesconflicts.

A)blows thingsout of proportion B)spells out
C) is the peacemaker D) bursts into tears

6)Rawan is so

A)pushy

she's determined to get what she wants.

B)immature C) modest D)decent
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7) Ihave two lamps in my bedroom. My fatheralways asks me to ...

to bed.

A)switch offthem B)switch them off

C)offthem switch D)them switch off

before going

8) Summer in Singapore is much hotter than in England but only a bit hotter than in

Egypt.

The underlined words (a bit) in thesentence above can be replaced with

A) nothing like B)slightly ) considerably D)a lot

9)Harmful chemicals, fertilisers, and pollutionwould
A)provide B)contaminate C) install

freshwater supplies.

D)clarify

10) Keep your argument simple and try not to

A) complicated B)complication
it

C)complicating D)complicate

11) and other wearables, such as clothing,could be used to track your body's
fatand water content.

A)Malfunction B)Smart devices C)Household appliance D)Glitches

12)It was ahuge

A) flourish

and I didn'tget the marks I needed to goto that university.

B)blunder C)masterstroke D) affluent

13) At some point, you willhave to make a decision.

The correct binomial that can replace the underlined words in the above sentence
is.

A)Sooner or later B)Moreor less C)Touch and go D)Ups and downs

14)Don't make a mess, ......o***.*.?
A)willyou B)may you C)can you D)doyou

15) Iforgotmy password and
A)have blocked B)was blocked

my email account the day before yesterday.

C)has blocked D)blocked

16) The shopping centre

A) was opened B)opens
at 10 a.m. every morning.

C)had opened D)open

17)Bythetimewe reach the entrance,we .... for three hours!

A)were going to wait B)had bcen waited

C)will have been waiting D)would have been waiting

18) A: Jameel is thinking of travelling again.'

B:Yes, well,he ... ...stay in one place formore than a few months.

A)will B)would C)won't D)wouldn't
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19)The flip phone, which was designed in the 1990s, is rapidly becoming popular again.

Thesentence that has the correctparticipleclause of the one above is

A)The flip phone, designecd in the 1990s, is rapidly becoming popular again.

B)The flip phone, was designed in the 1990s, is rapidly becoming popular again.

C)The flip phone, is designed in the 1990s,is rapidly becoming popularagain.

D) The flip phone, designingin the 1990s,is rapidly becoming popular again.

20) People driving a car ..............carry a driving licence.

A) don't have to B) are required to C) are forbidden to

21)We should spend less on clothesand more on
A)a / an B)the / € C) an/O

D)need not

healthyfood.

D)O /0

22) The police praised Imad saving the man's life.

A) on B)of C) for D) into

23)Adel: Ididn't steal the woman's necklace.'

The reported specch sentence that has the correct reporting verb of the sentence
above is

A)Adel denied stealing the woman's necklace.

B)Adel regretted stealing the woman's necklace.

C)Adel suggested stealing the woman's necklace.

D)Adel recommended stealing the woman's necklace.

24) Young people don't need how to use new devices, they just know
instinctively.

A) be told B)being told C) been told D) to be told

25) Somebody was regularly hacking into celebrities' smartphones.

The sentence that has the correct passiveform of the above one is

A) Celebrities' smartphones are being regularly hacked into.

B)Celebrities' smartphones were being regularly hacked into.

C)Celebrities' smartphones have been regularly hacked into.

D) Celebrities' smartphones had been regularly hacked into.

26) I wish I sciencesatschool,but it's too late now.
A)had studied B)wouldn't study C) have studied D) don't study

27)IfT'd gone to university, I would have a better job.

Thecorrectgrammatical function of the above sentence is

A) past consequences ofa hypothetical present situation.

B)presentconsequences of a hypothetical present situation.

C) present consequences of a hypothetical past situation.

D) past consequences of a hypothetical past situation.

28)The letter (a)in the word (start) is pronounced the same as in the word
A)hat B)packing C) hard D)jam
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Question Two:(20 points)

Readthe following report carefully,and then in your ANSWER BOOKLET answer all

the questions that follow. Your answers should be based on thereport.

When developers released a statement that they were going to build a luxury new hotel at

the local beach, everyone in the town was very excited. There have been talks for ycars

aboutopportunitiesfor new developments, but they never seem to happen.

We all have to seize the opportunity and realise that the hotel will not only give

us work, but offer improvements to the whole area around the beach. The

developers have promised a new road with wide pavements to and from the beach

and a replacement of thesad old beach restaurantswhich have been therefor ycars.

We have asked for such development for years and it was heartwarming to now that the

developers have come up with a solutionto help local people. Not only willthe hotel need

local workers but there are sure to be otherjobs in tourism when the hotel guests start to

arrive.

Iwas very surpriscd to hear that there are protesters who are against the plan. Just last

week, some activists tried to stop lorries from entering the beach to start building work, and

I reported the incidentto the police. Everyone has the right to protest, but such obstructionis

illegal. There has even been an accusation that I am working to promote the hotelcompany,
but this is not true.

We must remember that the hotel will solve many of the problems in our area, and I

support it 100%.

1) Building a luxury new hotel willbring two opportunitiesto the area around the beach.
(4 points)Write down these two opportunities.

2)The developers of the project have promised to make two changes in the area. Write them

down. (2points)

3)What did activists who are againstthe plan do the previous weck? (2points)

4)Whathas the writerof the reportbeen accused of? (2points)

5) Write down the sentence which states that the writer is entirely with building a new hotel

and reminds us of the solutionsit wll presentto the problems in the area. (2points)

6)What does the underlined pronoun "they"refer to? (2points)

)Find a word in the report that means "causing feelingsof happiness". (2points)

8) It is important to recognise bias to determine how much the writer's presentation of the

subject is affected. Suggest two tips for recognising bias in the news. (4points)

Ouestion Three: (10points)
FREE WRITING
In your ANSWER BOOKLET,write a composition on ONE of the following:

)Aformal email to a fast food restaurant chain in your country describingthe problem of

misusing disposableplates, spoons and bOxes and urging to take a serious action.

2)Testing with computers instead of pencil and paper will leave studentsmore prepared for

the future. Do you agrec? Write an essay discussingthe advantages and disadvantages of

cach way of testing expressingyour point of view.

THE END


